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2N -3 - c2(3H) - NEME - HES 0] At oH OﬁEOH
-SE(U0E) 400,000 * 3CH 1,200
- SE2(5E) 400,000 * 1CH 400
-s2((2s8) 300,000 * 11CH 3,300
- SE(Es8) 400,000 * 19CH 7,600
SE(UE) 390,000 * 1CH 390
- SEH(EY) 390,000 * 4CH 1,560
- SE(AE) 340,000 * 5CH 1,700
- S2(0E) 1,060,000 » 2CH 2,120
- S2(FE) 710,000 = 5CH 3,550
- S2(4E) 230,000 * 10CH 2,300
- S (MER) 2,191,000 * 1CH 2,191
EXOIREEST) 530,000 * 2CH 1,060
EXETELHEHAR)
1,500,000 = 1CH 1,500
cEX(PHEXL TH) 800,000 * 8CH 6,400
- 02Xt 100,000 * 4CH 400
—ANsSHEIIBEE £ =5
70,000 = 73CH 5,110
-2 NLEE(2.89)
400,000 * 32% * 13 12,800
— SIS ANLREZ
120,000 * 8504 = 23| 20,400
—molgE 2 14,173
- SE(UE) 109,000 * 3CH 327
SE(5E) 100,000 * 1CH 100
- s2((2s8) 100,000 * 11CH 1,100
- 5B2(Es8) 100,000 * 19CH 1,900
- SEH(UE) 305,000 * 1CH 305
- SEH(EE) 305,000 * ACH 1,220
- SE(AE) 240,000 * 5CH 1,200
- SE2(UE) 270,500 * 2CH 541
- SI2(5Y) 540,000 * 5CH 2,700
-2 (AE) 150,000 * 10CH 1,500
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xt2) 220,000 * 4CH 880
C SR (TR 7TH) 300,000 * 8CH 2,400
OFNF=F=4=]E=IN}] 8,980
—NXERAES 1,000,000 *» 23] 2,000
— 22X MDA KNE= 5,000,000 * 12l 5,000
—2QIAY AR R 4 (D)
165,000 = 122 1,980
O X2 2t 544,683
—58(HE-AEE) 13,504,000 » 3CH 40,512
—SE(E8-928) 7,540,000 = 1CH 7,540
~5B(XY- AYE,Y28)
6,422,000 * 11CH 70,642
—SE(Es8-9428) 6,448,000 = 19CH 122,512
—SE(HE2SEHA) 10,845,000+ 1CH 10,845
—SE(ZE25HL) 7,516,000 = 4CH 30,064
~SB(AE-ARE A2E)
6,028,000 = 5CH 30, 140
—SE(HE-E2E=) 12,413,000 » 2CH 24,826
—32(ZE-AYE) 7,842,000 * 504 39,210
—SE(LE-ASE) 6,523,000 = 10CH 65,230
—SARHFAX) 9,315,000 * 4CH 37,260
— S (0lS=+2lXt) 7,237,000 = 20K 14,474
— ST (JIEAEE) 6,238,000 * 6CH 37,428
-SRI X2l 10,000,000 10,000
—0IEAS A #=clhl 1,000,000 » 4CH 4,000
202 O4Hl 12,000 12,000 0
TENCE 2,000 12,000 0
OREXZIIA 01t
10,000 * 10% * 102 * 12 12,000
405 XHAHE S| 410,940 454,700 A43,760
01 XA ESESHSHI 410,940 454,700 A43,760
ONHZSXH(EHSH-UH)
35,000,000 * 6CH 210,000
OLrESEI (2322 -UA) 30,000,000 30,000
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OUXNEHIAH (IIE ZAA-AIT)
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10,000,000 * 1CH 10,000
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4,000,000 * 3CH 12,000
OB X2 AD| (BHH2-CHA) 5,000,000 * 2CH 10,000
OLEES2EH 6,000
— AR (AR DR, F=EICED?)
1,500,000 = 3CH 4,500
— A (=Z ) 1,500,000 = 1CH 1,500
OJIEISETUSEELT} (BT 2EASH R
AT TAIHA) 38,940,000 * 1CH 38,940
SIHME &g 86,340 88,300 A 1,960
201 B2 HH| 76, 140 79,900 A3,760
01 AtR22/H] 69,400 72,800 23,400
Oget=2H| 52,200
—SA2)|5HME NEAH 7
10,000 * 400% 4,000
—2A8)] '7HE HREDA
40,000 * 2605 10,400
—2ASI|GHBLAN 22 (215 H A
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— A ROl 100,000 » 50% 5,000
—3|HAMA g0l 2,000,000 2,000
-3 HEE 7 2,000,000 2,000
—H LA RG] AMAILER
200,000 * 43 800
—S)EEXN L FAHHHE 1Y
1,000,000 1,000
Oo=2dx4 12,200
— a2 RT G
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—AAHAIRR 25 8,000
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—XNEBSYUN HED RAES 3,240,000 3,240
CEAMAZRIY SAEE
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202 O] 7,200 8,400 A 1,200
01 =ZUWdH 7,200 8,400 A 1,200
O3 HYR =& (&F2l, HY)
20,000 * 6Y * 5 x 12& 7,200
203 YREZFH| 3,000 0 3,000
03 AIMF=RHFF=ZEH| 3,000 0 3,000
OFAH - 24 HRFA 3,000,000 3,000
NEsN 2 22X 22X 58 151,971 221,276 69,305
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& 33,180
iy 13,819
s8N 2 J|ise g4 24,481 26,431 A 1,950
= 4,617
& 7,682
iy 12,182
NSAAX HNE=HA 9,235 6,803 2,432
= 4,617
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iy 2,309
301 etgA= 9,235 6,803 2,432
= 4,617
= 2,309
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SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
401 AlZHILL O = 25,498
2 1,637
01 Al&H] 127,490 194,845 ~67,355
OZBI2AY 127,490,000 127,490
= 100,355
= 25,498
2 1,637
peiEE 1,091,987 487,480 604,457
= 152,360
2 939,577
HAHAIR A&z 2 29 55,760 25,260 30,500
WeHAE B2l 2 |SXE4 55,760 25,260 30,500
201 ey 660 660 0
IR 660 660 0
OHEES=11 660
—NBABE2HS Y45 R
33 * 20,00004 660
307 21201 25,100 14,600 10,500
05 QIZIES 25,100 14,600 10,500
ONBAFABE Stz
15,000,000 * 60/100 9,000
OOIZAIZABE +olth=
3,000,000 * 70/100 2,100
OBTAIZABE +2bh=
20,000,000 * 70/100 14,000
401 AlEHILL 0 30,000 10,000 20,000
01 AlZH] 30,000 10,000 20,000
OBYAIE SN+ (3MHA) 30,000,000 30,000
EA01Y 8% AR 1,081,177 445,820 585,357
= 152,360
2 878,817
52019 W@ 2 2 813,520 217,960 595,560
201 L2yl 9,560 9,000 560
RSN 4,560 4,000 560
HEES-11 4,000
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= T - = oS = =5 0:”/&,% Lsa
—JIgRX EES MHE
20,000 * 1008 * 2% 4,000
Oo2gd=+¢ 560
—JlYRxeIAs HHLY
70,000 * 4% * 23] 560
02 =329l 5,000 5,000 0
OAl&Edl=Xlbl 5,000
—JlgdE2& SHOIX FANE+
5,000,000 5,000
202 OiHl 3,360 3,360 0
01 =Wolbl 3,360 3,360 0
OBZEE U ZAJIPXE ZAOI
20,000 = 2% = 7 « 12& 3,360
207 Ao 300,000 0 300,000
01 ¢x72E49H| 300,000 0 300,000
OMATTHHLRUUNHSUME 2
300,000,000 300,000
301 utEaz 600 5,600 25,000
10 SAIAHIEAZ 600 5,600 A5,000
Os2Jlg BMAMY &3 HEIHEL
5,000 » 60 * 23] 600
06 =3 300,000 200,000 100,000
01 &93 300,000 200,000 100,000
OZINEHEBEEIIZ EAH3(E201Y)
250,000,000 250,000
OZINE=SLIgNMY &H3
50,000,000 50,000
402 SIZ2HX =0l 200,000 0 200,000
01 QI2ZtXtE8E=x 200,000 0 200,000
O sstAtE XX XA 200,000,000 200,000
22 JgEE ALY 217,657 227,860 A 10,203
= 152,360
= 65,297
401 A&HIZ20HYI 217,657 227,860 A 10,203
& 152,360
= 65,297
01 A&l 217,657 227,860 210,203
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A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 Hos
OA 7SI BN LA 217,657,000 217,657
= 152,360
= 65,297
XA pe e 5,000 16,400 A11,400
SEXNANSWE =012 5,000 10,000 A5,000
306 3 5,000 10,000 A5,000
01 == 5,000 10,000 A5,000
OB ZXANEWE 2013 5,000
—00E BIBNANEMES 512
5,000,000 * 18l 5,000
MILIXI =oF U orFae] 620,253 25,451 594,802
SEXQ HUX 018 620,253 25,451 594,802
MUK T2l o & 20,253 25,451 ~5,198
201 syl 16,700 21,898 ~5,198
01 AR 22l 16,700 21,898 ~5,198
Ot 16,700
—JtAOIH PR EE 40 HIF
100,000 * 5)HA * 13] 500
—CHEOIBAE ®IIGHEEZ 242
3,000,000 * 23] 6,000
UK 222 A 10,200
SR ORI 1,000 * 6,0005 * 1Z 6,000
CRIBY R 100 * 15,0009 * 2% 3,000
LTS M 100,000 * 65 * 2% 1,200
202 OfHl 2,400 2,400 0
01 =LHoiH 2,400 2,400 0
OJtA U HSEA =X0Y|
20,000 * 28 * 53] * 122 2,400
206 Tz 1,153 1,153 0
01 Mz 1,153 1,153 0
OMSAIR I 1,153
—3lgs 1,600 * 48742 * 42|Ef * 23] 615
—AR 1,400 * 4870 & * 421Ef * 23] 538
SAIA BESAM 500,000 0 500,000
402 QAR =0 500,000 0 500,000
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01 PIZR=EEE 500,000 0 500,000
OZAIJIA AHE R K& 500,000,000 500,000
ATHANHX 22 A 100,000 0 100,000
402 SIZ2HX =0l 100,000 0 100,000
01 QtR=Ex 100,000 0 100,000
OMTHA (EHST)NLIK 22
2,000,000 * 50= 100,000
NSAR 245 I8 X 39,030 25,780 13,250
< 2,000
= 37,030
A=t etE 2tel 35,030 21,780 13,250
St & AHIAES 22,780 21,780 1,000
201 Lt 7,600 7,600 0
01 AtR2teld 7,600 7,600 0
Oget=EZH| 2,100
—NHPR o5 FF LYy
100,000 * 7004 * 385 2,100
oY+ 5,500
—AHIR AP AG BT
70,000 * 10% * 53| 3,500
—HAUMA SOIAFDS 2N 2T
400,000 = 53 2,000
202 O4dl 2,400 2,400 0
01 =LAl 2,400 2,400 0
OSIHEs Y AHINESEE O]
20,000 * 2F * 52 * 122 2,400
203 HEF=4H 5,000 4,000 1,000
03 AIMFAHRFAH 5,000 4,000 1,000
OZNEM JRF& 5,000,000 5,000
301 LetEd= 7,780 7,780 0
10 BAIAHIENS 580 580 0
OSII2LIEHRY B8 &II2H
20,000 » 6 = 42 480
OOISAHIRALA 29
5,000 » 10 * 23] 100
12 JIEt2 43 7,200 7,200 0
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SA-EFH - SA(SAH) - MREAY - BES Off &F K glgafg BlusZ
OSIEARE 24 100,000 » 6& = 123 7,200
tEAEEA B 12,250 0 12,250
201 LEHREH| 12,250 0 12,250
01 AtR2cibl 12,250 0 12,250
Ogt=2H| 12,250
—IJtEMNENER S22 A 2,250
dHEEE N 50 = 5,000% 250
2B MA 700 * 2,000% 1,400
Sl M 100,000 * 6H 600
—IJtEMNEEEE ME 10,000,000 10,000
e=ol X& & 2cel 4,000 4,000 0
= 2,000
= 2,000
A= 2320 NEAMS(23AE) 4,000 4,000 0
= 2,000
= 2,000
201 LErEgH| 4,000 4,000 0
= 2,000
= 2,000
03 A2 4,000 4,000 0
O2i=el et==3tHSHA 4,000,000 4,000
S 2,000
s 2,000
ANgaHHI 28 & 2 545,106 399,486 145,620
U XN SMAET 2E L 2 (SSHEALE 545,106 399,486 145,620
SH33)
SsNgade 22 545,106 36,823 508,283
201 Bt 30,000 16,440 13,560
02 =329 30,000 15,600 14,400
OZ232= ¥ HMAl 30,000
—SSNSMHET MRS
2,500,000 » 12& 30,000
401 AIEHIZ=0Y] 20,000 20,000 0
01 Al&HI 20,000 20,000 0
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SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
OSESNLMAST NERK 22
20,000,000 20,000
801 0iltIbl 495,106 0 495, 106
L 495,106 0 495,106
O0IHIHI 495,106,000 495,106
™S AAL (M) 74,576 43,020 31,556
ol 2ot (2 H ) 10,800 3,000 7,800
ol 2| 10,800 3,000 7,800
203 Y= 4,200 3,000 1,200
VRV EEEEEST 4,200 3,000 1,200
ORNSYLRTTH (MBI
4,200,000 4,200
204 HRLHAY] 6,600 0 6,600
03 SHYL+H S| 6,600 0 6,600
O3lH - et g3
50,000 * 7% * 12® 4,200
O=A2)| g2
100,000 * 29 * 122 2,400
I ZH(ZRD) 63,776 40,020 23,756
=l 63,776 40,020 23,756
201 L2yl 35,420 20, 160 15,260
01 AFR2elt] 35,420 20, 160 15,260
Ogersgt| 27,320
—SAEX 7Y (M)
17,000 * 304X * 128 6,120
—NREE 2 100,000 * 27 2,700
—HT= A 2 3,600
- SEIIE2IX (POU) 400,000 * 43| 1,600
- EHIERIX 100,000 * 103l 1,000
=A| %2l 250,000 * 1CH * 43| 1,000
—TelE E4 7Y 300,000 * 5CH * 43 6,000
—HRIEH 4288 7Y L £¢
200,000 * 6CH * 13| 1,200
—2mel £ 7
450,000 * 444 * 33| * 104 5,400
—FAX Bl 7 150,000 * 1CH * 23] 300
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“UENA R0 @ SEYEE 25 S
- 1,000,000 1,000
—ZAEELT S 7Y 1,000,000 1,000
O=&tl 5,000 = 27F = 541 » 12& 8,100
202 (44l 27,216 18,720 8,496
01 =UWobl 27,216 18,720 8,496
OJl2ge =du|
120,000 * 27 * 128 * 70/100 27,216
405 XHAHF SHI 1,140 1,140 0
01 Xt =SFHSHI 1,140 1,140 0
O 4t 200,000 = 3CH 600
O2| Xt 180,000 * 3CH 540
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